45.

46.

47.

43.

mq@ﬂwa{'{g‘r

(A) Tt (B) #13 (C) =mer (D) I9gH
. Wmﬁm&aﬁmﬁwm

(A) F9mrE § T (B) 59 § T

(C) Fife® § T (D) #féaT 4 T

. AAFH FF AAH ANTFEF Fohs A= &1 7

(A)Te® 9 (B)3amEe  (C) fawfeq (D) g

SECR wF 10
a. FaaTae o 1. & 9reae
b. @Y - 2. Wt Fafes
c. UFES wETeET 3. ui s |
d. s 4, fafew v
a2 @\e d
A 3 4 .1 2
B 1 2 304
C© 3 1.-4£42
o 2 3 .1 6
&F T FAaSTEE |

|. W ISAF HY AGAE IAH T TAATHT O FT |
2. AAICETAT YA A Glgell U WAFT AT AAH T |

(A) T &% (B) 3 =

©) 1 3= 2 a&=* D) | 5 2 &k
(A) sregfer (B) T30 U7 qATCEH
(C)FF (D) =

g 1 @) T g I (Wra iR #) W oSiel Meeae T #eae

HE I FreRE |
E 1 @@  §F 1 (@ odTmm sm)
a. wHENSA 1. wasfa de599
b. #EH 2. ATEAEEAS FAEE
c. FfeHAw 3. e feurEtaaa ade
a b ¢
Ay 2. 3- 1
@) 2 1 3
@& 1 3
m 3 2 1
BIMSTEC AT 9T #Fgar ATT={{& §I6T G497 Gruar f447 7
(A) December 1998 (B) December 2003
(C) Eebruary 2004 (D) July 2004

LE



49.

50.

5

53,

54.

55.

mwmwmmﬂfﬁmmnﬁﬂmmw

(A)EFIﬁT?FQT ME (B) TS WETTE
(C) At fafey | (D) T A

Furer AT e S Ffeer woer f

(A) 1815 \/Iarch 1 (B) 1817 April 1

(C)1816 June 4 - (D) 1816 March 3
aa fguemn G ST HasTe | .

et/ Rreard &
a, WETEE UH4™ 1. World Meteorological Organization

1
b. AT T 2. International Standards Organization
c. TR fEeEm 3. Transparency International
d. Waw wfgeEmfi 4. UNHCR
(A) a-1,b-2,¢-3,d-4 (B) a-2, b-3, ¢c-4, d-1
(C) a-3, b-4, c-2, d-1 (D) a-4, b-1, ¢-2. d-3
sirer faemsTe | '
TE [ (@& TuE Il d@s
a. & 1. anft FEdEe
b. e @ 2. wHE AL
c. At ArETd 3. Wi
d. W WA 4, A FEwEr
(A) a-2,b-1,c-3,d-4 (B) a-1, b-2, ¢-3, d-4
(C) a-3,b-2,¢c-1.d-4 : (D) a-4, b-3, ¢-2, d-1
mmmﬁ@ﬂtaﬂﬁmmmuaﬁﬁw
e

[, o O fedmag 93%% W1 99F U A A ATH A |

2. HUT FEWRE U GERr UA] geadied qe §yEq A 79 A
(A)1 723 &= (B) 1723 &=

(€)1 ¥ a7 2 &% (D) 1 &= ax 2 T
mnwnmmmwmmaﬁ&smm
TE IAT G |

el I i
a. JICA 1. d@resteams (Switzerland) ©
b. DFID 2. TgE U9 AT (Unites States of America)
¢. USAID 3. F@Id (England)
d. Helvetas Nepal 4. S99 (Japan)
(A) a-1,b-2,¢c-3,d-4 (B) a-4, b-3, ¢-2. d-1
(C) a-2, b-3, c-4.d-1 © (D) a-4, b-2, ¢-3, d-1
Pl w9 59 acd Wi
(A) TS BT (B) FTa= #EH

(C) fevm === (D) I SAHA

Y4



56.

a7

58.

59.

60.

61.

62.

63,

TIHT T AFAE T 1093 F AVH! T GO Ay Pt 2

(A) FATT 5% (B) =eE WX §%
(C) Tav= 5= (D) TH=e AEUAS 9%

e fava g PRder afam dmaew wiew frde dwEe wh
qAT fermar o 2 .

(A) 2013 Nov, 16 (B) 2014 Jan, 1 .
(C) 2013 Nov, 1 (D) 2013 Jan, 1
HE 1T 99F 11 312 I9gF el Mes"a air a« Reusr #reare a8
I FIRIA |

qF 1 : o wEI

a. fad Rots # Uw WE 7 TdEE | =, qinse e
Farsafirar
b. WY FF vedAEe fad ote w2 & Prfevae Sewer

Fersftrer T & WA Afrard
cc. U ATE AT g 0% w3, sty g

fersirr -
d fad zoso = w=f fafgmor 4. @ yEEE =
(A) a-4,b-1, c-2,d-3 (B) a-1, b-2, ¢-3, d-4
(C)a-3,b4,c-1,d2 (D) a-2, b-3, c-4, d-1

T [EETH AT E, T B T ISR §
I. q AT ATTE TTIEET AT AAHT qCE A |
2. HATCH FEAAET A GorE w741 “Duck Weed” 71 AR |
3. dfedl gretiE IS W 9330 HI VERTHT AR Y |
4. PR wh FEA FEdEr ahod oawd FeAlas  GFaT
< @A B | . :
(A)9 8% T u% 7T &1 B)ITREF AT 3IT Y 3w &
(€)%, RT3EF G ¥ T (D), T ¥ &F T 399 &
Long Walk to Freedom 71w Sftg arew St s@s #1 & 7
(A) TETeRT T . (B) rEaE qF -
(C) 3t =137 (D) Feq A

Part (B) - Aptitude Test (25x2) = 50 Marks
If IQS is coded as LNV, then what would be the code for JRM?
(A) LOP (B) MOP (C)LIP (D) MOW
In a queue, Mr. X is twentieth position from the front and Mr. Y is
twenty one position from the end, while Mr. Z is exactly in between
Mr. X and Mr. Y. If Mr. X is ahead of Mr. Y and there are 50 persons
in the queue, how many persons are there between Mr. X and Mt Z?
(A)8 (B)5 C)4 (D)3
The total of the ages of Akbar, Amar, Amir and Arjun is 80. What is the
total of their ages three"years ago?
(A) 66 years  (B) 68 years (C) 71 years (D) 77 years

%Y



64. A shopkeeper fills a basket with eggs in a such way that the number of
eggs added on each successive day is the same as the number already
present in the basket. This way the basket gets completely filled in 24
days. After how many days the basket was one eight (1/8) full?

(A) 21 (B) 12 (C)6 (D)4

65. Direction: In the following, two statements I and IT are given. There
may be cause and effect relationship between these. Read both
statements and answer as:

Statements:
I. A huge truck overturned on the middle of road last night.
II. The police had cordoned of entire area in the locality this morning
for half of the day.
(A) If statement I is the cause and statement Il is its effect.
(B) If statement I is cause and statement I is its effect.
(C) If both the statements I and II are independent causes.
(D) If both the statements I and II are effects of independent causes.
66: Find out the alternative that will replace the question mark (7).

HSJIQLONM?
(A)LIJ (B)OP (C)KP (D) PK
67. In the following find out the alternative which will replace the question
mark (?) :
. Line : Square :: Arc: ?
(A) Ring (B) Sphere (C) Circle (D) Ball
68. Which figure should replace the question mark?
o] o
?
o
o [© G
b :
(A) (B) (©) (D)

69. Choose the correct water image of the given figure (X) from amongst
the four altematwes

(X) (B)

70. What number should replace the question mark?
17,4,29,13,41,22,5% 31,7
(A)59 (B) 64 (C) 65 (D) 71

4
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72.

73.

74.

73,

76.

Select the figure which satisfies the same conditions of placement of
the dots as in Figure X.

R N
AL 7y o
/ \_/
(X) (A) (B) (C) (D)
Choose the figure which is different from the rest.

&S|

(A) (B) © (D)

What is the maximum number of triangles in the given figure?

(A) 18 (B) 20 (C) 24 ' (D) 27
What number should replace the question mark?

(A) 11 (B) 12 (C) 22 (D) 33

On taking delivery of a consignment of eggs the market stall owner was
furious to find that several were cracked. In fact, on counting them up
in order to asess the damage he found that 72 were cracked, which was
12 percent of the total consignment. How may eggs in total were in the
consignment? .

(A) 550 (B) 575 (C) 600 (D) 625

How many steps to the top of the Dharara? asked the tourist. 196 steps
plus half the number of steps, replied the guide. How many stepq are
there to the top of the Dharara?

(A) 392 steps  (B) 294 steps (C) 496 steps (D) 398 steps

ye



77. What is missing number?

(A) 6 (B)8 (7 (D)9
78. Circle indicates ‘strong', square indicates 'tall' and triangle 'football
players'. The strong 'football players' who are not tall are shown.

5 (I
3 6
B
2
(A) 4 (B)5 €6 (D)7
79. The sum of first five prime numbers is:
(A) 11 (B) 18 (C) 26 (D) 28

80. Of three part-time employees. Manoj works longer hours than Fanindra
and Bishal works longer hours than Manoj. In this context which one of
the following is correct?

(A) Manoj works the longest of all

(B) Fanindra works the longest of all

(C) Bishal works the longest of all

(D) both Fanindra and Manoj work longer than Bishal ;
Directions for the following 5 (five) items: Study the table given below
and answer the five items that follows:

Four students W, X, Y, Z appeared in four papers; I, IL, Il and IV in a
test. Their scores out of 50 are given below in the table. Where 'A’
stands for absent : '

Papers
Student I T T
W 30 |23 |26 | A
X 3] 42 22 28
Y. 36 138 |A 34
: Z 34 A 35 32 . 4
81. Which candidate has secured between 60-35% marks in aggregate?
(A)W (B) X (O ¢ (D)Z
82. Who has obtained the lowest average in aggregate?
(A)W (B) X Y (D)YZ

Vi=



83. Who has obtained the highest average in aggregate?

(AW (B)X QY (D) Z
84. In which paper the lowest marks were obtained by the candidates?
(A1 (B)II - (O (D) 1v
85. Which candidate has secured the higher percentage in the papers
appeared?
(AW B)X QY D) Z
Part (C) - English Language Competence Test ------- (15x2) = 30 marks

Read the following passage and choose the correct answer of the
questions given below:

Three-fourths of the surface of our planet is covered by the sea, which
both separates and unites the various races of mankind. The sea is the great
highway along which man may journey at his will, the great road that has no
walls or hedges hemming it in, and that nobody has to keep it in good repair
with the aid of pickaxes and barrels of tar and steamrollers. The sea appeals
to man's love of the perilous and the unknown, to his love of conquest, his
" love of knowledge, and his love of gold. Its green and grey, and blue and

purple waters call to him and bid him fare forth in quest of fresh fields.
Beyond their horizon he has found danger and death, glory and gain.
: In some great continents such as America and Australia, there are.towns
and villages many thousands of miles from the coast, whose children have
never seen or heard -- or felt ---- the waves of the sea. But in the British
Isles it is nowhere much more than a hundred miles from the most inland
spot. The love of the sea is in the very blood of the British people.
Comprehension questions: (5x2 =10)
86. How much of our planet is not covered by the sea?
(A) three-fourths of the planet  (B) half of the planet
(C) one-fourth of the planet (D) more than one can measure
87. The sea helps a man
(A) in raising walls on the coast
(B) in building great roads
(C) in making j journey at his will all around the world
(D) in clearing Hedges hemming the sea
-88. In what way does the sea appeal to man?
(A) it invites man to amass gold hidden under the sea water
(B) it helps man take lessons from the perilous waves and stay at home
(C)- it bids man to venture out in quest of new places
(D) it makes man wax eloquent about the futility of adventuros deeds
89. The children have not responded to the call of the sea.
(A) in remote towns and villages of America (B) in Great Britain
(C) in Nepal ' (D) in India



90. The sea has been compared to
(A) a steamroller (B) the great highway
(C) a spacecraft in motion (D) hedges hemming it
Vocabulary questions : (5x 2 = 10)
Choose from the following list of words, a word that is most nearly opposite
in meaning to the word capital letters:
91. CONSOLIDATION

(A) restriction ' (B) opposition
(C) fragmentation (D) provecation
© 92. SECURE - ;
(A) infest - (B) decent _(C) implant (D) unfasten
93. VALOR .
(A) admonition (B) injustice
~ (C) cowardice (D) generosity
94. LAVISH
(A) hostile (B) unwashed  (C) timely (D) frugal
95. UNEARTH .
(A) conceal (B) gnaw (C) clean (D) react

Svntactic ability questions : (5 x 2 = 10)

96. Choose the right verb to show Antecedents agreement:
~ Two ladies hand ...........c.. hand bags stolen at the way.
(A) its (B) his (C) they (D) their
97. Choose the right alternative for the underlined
Prices are going up by leaps and bounds.
(A) irregularly (B) rapidly
(C) gradually (D) systematically
98. Which of the following sentence is grammatically right?
(A) Iam unable to return I don't complete my mission.
(B) I am unable to return unless I complete my mission.
(C) T'am able to return unless I complete my mission.
(D) Iam able to return, I complete my mission. '
99. Which of the following is a noun? :
(A) heighten (B) perceptual (C) abbreviate (D) ignorance
100.Choose the correct alternative of the given sentence for indirect speech.
He said, "I clean my teeth twice a day."
(A) He said that he cleaned his teeth twice a day.
(B) He said that he cleans his teeth twice a day.
(C) He said that used to clean his teeth twice a day.
(D) He said that he used to cleaning his teeth twice a day.
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HET ;9 " 30 fiae qUTE : 300

FEIT FEIUL (100 X 3 = 200 HF)

=

Part (A) - General Awareness —————— (60 x 2 = 120 Marks)

1:

]

aferr MengAr 29 S 9E Ew R g TS

(A) 917 =g - (B) #1391 =)
(C) 78~ =q (D) e /et Heg
STeT faerg #Frerae 7 gue g |
T A ¥HE 'B'
a.  emr 1. #HEer
b. ErmEr 2. &
c. Fear & Fafrar 3. Fifae
d. #Hr=mE 4, FT
‘®€ a b ¢ d
A 2 1 84
@ 12 3(4
) 4 3 |
M 4 3 2 1

Qe SIYSTE FHAT T GRvERE R w5 A 3 A v
(A) TR, I, q2aw, Aiiviea (B) SO, WA, dlferear, o7
(C) oY, q2ae, 97AY, Afear (D) TA, T, T2, Aferear
(A) ST, FF=aaT T g@a @t (B) FHTan, Faeaar 7 fFem

(C) FHAT, FF=AT 7 W|rwAT (D) IAETE I

SN SAFTHE qUA A TEHT T B 7 ‘

(A) 1497 , (B) 5198 -
(C) T9a" TR (D) W= %7 afq &g
SreT e dqee &9 =i 5w 3 d
TE A’ ¥E 'B' .

a. AT . ®Ea

b. AT T® 2. HAEE

c. qHgd A 3. =

d. T qrEd 4. FEAR
(A) a-4,b-1,¢-2,d-3 (B) a-4, b-3, ¢-1, d-2
(C) a-2, b-1, c-4, d-3 (D) a-2,b-1,¢-3,d-4
a7/ ETATEN WIFHT afvaAT F @ faeraeT &
(A) THATER T (B) SA=RTE STy
(C) 779 w=a1g (D) T 95 Foar

&1



et e e s far 2

(A) 1843 B.S. (B) 1842 B.S. (C) 1845B.S. (D) 1849 B.S.

¥ 3099 W WUH! AUTAH] FTATUAT FATET AGAHT Slfer ARl FEdT
Ffe & - -

(A) 110 (B) 113 (C) 119 (D) 123
. SRR Bfy &7 dretrm e afeeer 3

(A) FHiTST 9t (B) =T ¥t

(C) for@v et . (D)qﬁa?ra;—?mﬁrﬁs'-r
“Rraeiers T4q ga@or” [ 70 & 1EAT WH B

(A) TUZ F29TET (B) awrg aar fafx swererar Hr=wn
(C) femmeft gzoram - (D) fafa wirer 7 fewmen wers dr=mr
. frema &7 fewers 3= ¥ N fHerw=r #W g

(A) UTSTE % 2 (B) #ATE

(C) 7T (D) AISvZ THFH
. Sirer fAeTS Frewe @E I BRI |

THE A’ -~ 99§ 'B'

a. T Hed A . 9evEsd -

b. wmf=r =t 2. Y™ Hed

c.  AAS FATAI 3. #vzm

d. s 4. Hig=m "o

(A) a-3, b4, c-2, d-1 . (B)a-3,b-2,c-1,d4

(C) a-3,b-1,c-4,d-2 (D) a-1, b-3, ¢-2, d-4

.mmmmﬁﬁﬂmmﬁmmmwwm
e Se@a TS &

(A) FTHYT TTETT =T (B)awﬁaﬁmm%a‘
(C) ATTH ATaaTEaHT (D) FTHSH! FA9T

(A) A&TH® : (B) FeTeme

(C) gvgaTas® (D) §agvs AhF
. AU AF FAT ATARTE GfeAr AL B OEA ¢

(A) AT fig T (B) Ferdi@® sl

(C) AT @A (D) F==egt  4am

. fre e & wewr faae dar wWdm gETd Uehar W1 9 aTaedE
93

(A) FET=9 HaTEaH AT

(B) AU TeAgA

(C) Tiftgar FT==T ATARTET

(D) He@El TiEE

(A) 13 (B) 14 (C) 15 (D) 16
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T H. 20,21, 227 23 (7 Arferarar smamar g

The next four questions (Question No. 20, 21, 22 and 23) are based on the
following table. Here list I, list II and list III are interrelated among each
other. Find the relation among themselves and select the correct answer

using the code given below:

FHE (List) I TE (List) 11
a. 2004BS. |. 9w ;¥HFR Faw
FA
b. 2007B.S. 2. durer . e
Afqar
c. 20I5B.S. 3. SYH AT 9TEA
faar
d. 2047B.S. 4. F9rersr dfaur
19. .
#E WEI EEIN 9 I
(A) a 1 i
(B) "~ b 3 ii
(©) ¢ 2 iv
(D) d 4 iii
20.
FE FEI WEO I
(A) a i i
(B) b 3 iv
©) (& 2 v
(D) d 4 vi
21. :
FE WEI wEO  wE
(A) a 1 i
(B) b 3 iv
(©) c 4 iii
(D) e 2 vi
22,
FE WEI  WEN o I
(A) b v -3 i
(B) C 1 v
(©) d 4 iii
(D) e 2 vi

23. FF {EAIE Paper Gold 977 Ffvmwg 7

¥HE (List) IIT
i. TET IHIR

ii. 9gH W9
ili. 9 g2
iv. Ha9 aTHIT :

v. favavaw yamw s
Vi, T IHIE WETE :

(A) 7 =7 (B) =ferF dive
(©) 77 (D) wa.fe.ame
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24.

25.

ATF. R0 /SR F TAE TFAA ATAT AUTAHT FSATATH TeH HAAE
HEAAAF AEITH GT ATHAT TEH B ¢

(A) 15 (B) 17 (S 19 (D) 21

#E 1 7 11 97 Sirer faens@™ 7 Feare 98 907 FE |

Match list I and II and select the correct answer using the codes given
below:

TE A ¥9E 'B'
EET g "ET =+
a. AEHE I [, &g T
b. FFed WA 2. FE
c./ digwr IT&9 3. el
d. 74 4, AT
=g (Codes):
a b ¢ d
(A) 40N 3 2
(B) 5 2\). 3
(€) 3. M UAS 42
(D) 2 3 S
26. NWWHMWW(CEDA)WWWWWH
_E’IT ]
(A) 9T (13) Erikea (C) ¥ (D) I
AR A AeIET. FA _9AeA SMEeners fagae g Ay
b o
" (A) 83% (B)SS% (C) 87% (D) 90%

30.

JEEH SHATE FATH ZEETE HAl AATGT ATATTATERN FH A HE A 7
(A) FEvSE, wersd), fewd, fafad, dEareh
(B) Feimmvel, dreered, fawd, warsd, fafad
(C) #Eresl, wersd, fawd, sreared, fafadr
(D) W, wwimes, fafw, fewd, Seereh

29. WWWMWWWWWI

(1) SOTerET FEa=T TE TIEE TEATATH AT Areet |
(2) THEA TAZTE |07 AIF GHEA TG, 2099 FAEA |
(3) FITETRT FATT & AEF LT HEQYETE ASH |
I FATHH FA Fel B A ¢

(A) 7 (B)q T2 ATE

(C) 7 391 (D) R ®TA
mﬁa@mwwmmmmmw
$reF & WWI .
(A)mﬂmwﬁwmm EEIlEnI
(B) fawa Terwa, gedt T, fegrd TroramT, F= AT
(C) it TrTHT, Fagrd AT, gedt AT, P a9
(D) et T, fagrd e, &= aeE, e asr

1544



31.

33.

34.

A5.

36.

3.

38.

39.

40.

T 1 7 F9F 11471 TeT Memgie 7 981 9w¢ e TR |

THE A

T FE0 A (A

d.
b. Wmﬂf@uhm
& mmrztrfmg-ﬁf

(A) l-c 2d 3-b
(B) I-d 2-c 3-a
(© I-d 2-a 4-b
(D) 1-b 2-a 3-d

W IB! L]
Er

-

Ecil

-

SreAT
AGATHAT

ol o By

4-a
4-b
4-c
4-c

. U B FTIU FET ATH], A, GAH T FIEAT TG

(A) Fer@rl, FARVEH, Ferara, faaaq

(B) Fe@r, I TEH, S, IIT,

(C) =TTe, F#0 UL, FeAT, I

(D) FHe=ra, mmaﬁ T, qqT

TATETH T=5 TAHEAT TUFT G M0 A0 FAT. FF (5o ¢
(A) FISHTET, AT, S, A T waqT

(B) FTEHTET, UT@Trﬂfﬂ'cT‘I(

hﬂmtw

(C) FrEHTEl, favTeTe, @fqagy, drew 7 swag

(D) FEATET, U, AT, AT T e
TAVET ¥ HRT AT g

(A) FraTaTT
(C) |rHTTT# e

(B) qature fasm
(D) #Te fawe

&fva Sfewr afdar (Green Belt Movement) #1 #2419 & B¢

(A) Gaylord Nelson

(B) Wangari Maathai

(C) Paul Watson (D) John Muir
nfgwm«m:mwwwnﬁwqﬁmq#rmw
qieardt giqerT w=T g

(A)25.2 (B) 25.7 (C) 26.9 (D) 28.1

ASET F TUH FAAT Fel G

(A) FvET (B) o=

(C) atférze= fe 4t (D) afe=

ST fEfemrr AT, 9% ¥y AT Faewre nfvusr awar A @ faEr

(A) Little boy (B) Little man (C) Fat boy (D) Fat man
TR A (TR T A A w JeerArT fFe 1 g

(A) gatawzare qmer @
(C) qeTE s QWT'HT

mmmﬁ&r@?mwﬁmammaﬁwﬁ?ﬁwmﬁm

(B) sweAtETare g9 fawgan
(D) gdign m

T FeAfd e faug w8 ¢

(A) FTATETT HTeq0
(C) srefaaT Fon

-

(B)mmmm
(D) =TI FEHATET

&Y



41.
42

43,

45.

46.

47.

48.

49.

FAHET e WG AEHEA F AT HUH 44T 7

(A) 3T (B) =faror sftrer
(C) =T (D) FUEMHTHAT
ﬁmmmaﬁ:ﬁmwwsﬁaﬁﬂmmmfm=
(A) 1958 A.D. (B) 1966 AD.
(C) 1974 A.D. . (D) 1978 A.D.
q-nasm TETH FAAT o AT @ B |

(A) TH (B) ST (C) s (D) =E®

. Jonathan B. Postel Service Award -2014 FHeTs Yo7 TR B 7
(A) oTET FF Heaal (B) WETdIX G4
(C) wr. fpars = (D) B1. F5%F #5d
fafirssr afawre Fae TE &
(A) TS (B) Heialve ¥ UEH a9
(C)Gn'r! f‘q’!r:-: (D) STt FATEfead
BE
(A) TTHHFE (B) Eedr
(C) waT#T (D) fad=egr
Srer THETSEIA 7 98 J6Y Ifean THE |
TE ‘A - WE'B

a. @ Fbe 1. FERUTH

b. TEAT ISA 2. WIEHIEHT

c. URH A [HTgE 3. HZ T

d. ST O A 4. FTxemE ==
(A) l-c 2-d 3-b 4-a
(B) l-a 2-¢ 3-b 4-d
(©) I-b 2-d 3-a 4-c
(D) l-a 2-d 3-b 4-¢
e FaAETHS WE T FeATS e |

|, e ¥ AR A0 G G
2, TEHT GIEH 7 HeTEA §1

(A) T 7@ (B)q F& R T

(C)q e 3 W (D)3 =

ST 7 TR AT (AATSTEE 7 qel el Beerd |
ERES] A

a. #gw g wdm favataaed 1. S=4r

b, fava =R FET 2. arfeEged fedn

c. Headifed WET F 3. TET

d. WWWWW 4, ZfEm

(A) a-4, b-1,¢-2,d-3 (B) a-1, b-4, ¢-3,d-2

(C)a-2,b-3,c-4,d-1 (D) a-3,b-2,c-1.d-4
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50.

51.

52.

33,

54,

35

56.

57

58.

59.

F 30%¥ F FIFA World Cup # T=wa1 %7 9ATE (3%) 5% B/ 7
. af=w @« 51 7 gifaeErs soer faar |

2. WANRT G e T @Ay ferdrer T &

% mﬁmm,aﬁﬁr,mwﬁmﬁa
(A)7 3\ (B) 3 WTA

(C) 3 mTF (D)9 T 397

AT STAAT 085 ATAR AqTerE 94 2 9% qUTATE TAEET T
a'ﬂ

(A)51.69% (B)53.96% (C) 56.69% (D) 56.96%
mmmmmmwrmwﬁﬁmaﬁ
AT ATeT faereTE, 7 W I wreE

LEd e AT SO qE

a. FteAr i 1963 AD.

b. @reTRY ii. 1958 AD.

c. WEHr iii. 1972 AD.
d. T iv. 1962 AD.
(A) a-i, b-ii, c-iii, d-iv (B) a-ii, b-iii, c-1v, d-i
(C) a-iii, b-iv, c-i, d-ii (D) a-iv, b-iii, c-ii, d-i
fere SeraT AT fermme R '

1. gArE
2. T9zaams
3. @rdg
4. HEATR
AT (ASEAN) #1 #2@ Wifq Sfeafaa Tmeea 7 B/ FT FA g7
(A9 TR AT B)Y, 37T 3HA
(©%, 7 ¥ |7 D)y, 37 ¥ |
W—@Rﬁfﬂﬂm%ﬁmwwﬁrﬁﬁmh@ﬁ?
(A) 9T (B) STfeEeaTT
(C) Hreimr (D) awargeT
g fara ufrwer o @0 S #r gq ¢
INEEEEL (B) ¥tz e
(C) afe=r (D) FTel AT
LA - T AT & A :
(A) T (B) dreaTUg (©) &= (D) Hreq

F R09Y HIE © ATNGHT EIUH WA TS IS A 390 F
(A) 5T (B) T (C) s (D) 4t

AA. R0N-SR F T9E AAN T a9 ATHF WS ANREATE AfiE
Al ITER @A H @ W g v

(A)Rs. 500/~ (B)Rs. 1000/~  (C)Rs. 1500/~ * (D) Rs. 2000/-
émuwm&mﬁa@nw@raﬁm%aﬁﬁmmwma?

€



(A) Fore e (B) aforeT T

(C) & foee &= (D) tfer 579
60. e 1 7 #qE 1177 et fAarserd 7 e ¢ 3gerd |

: wE | TqE I
a. a9 HE1d 1. W
b. Tl &TH 2. e /fafen
c. HTET #=aT 3. ATEted
d. FEAHE HE 4, HrATear

(A) a-1.b-2,¢-3,d4 (B) a-2, b-1, c-4, d-3

(C) a-3. b-4, c-2, d-1 (D) a-4, b-3.¢-1,d-2

Part (B) - Aptitude Test (25 x 2) 50 Marks

6l.

65.

In 4 Queue. Mr. X is twentieth position from the front and Mr. Y is
twenty one from the last. While Mr. Z is exactly between Mr. X and Y.
If Mr. X is ahead of M. How many persons are there between Mr. X
and Z?

(A)8 (B) 10 9 (D)8

. Dress is related to 'Body' in the same ways ‘Bangles’ is related with:

(A) Glass (B) Lady (C) Wrist (D) Beauty

. What would replace the question mark in the given series?

B.E.D,F,?2,H.I,2.L

(A) LM (B)M. 1 (C)LN (D)ILN
Find out the alternative which replace the question mark.
South : North West, West ; ?

* (A) North (B) South West (C)North East (D) East
Direction: In the following a statement is given which is followed by
three course of action numbered I II and IIT you have to assume
everything in the statement to be true and then decide of the three
suggested courses of action logically follows fro pursing?

Statements: Every year thousands of eligible students do not get
admission in colleges both in urban and rural areas after passing their

_school leaving certificate examination.

Courses of Action:

I.  More colleges should be set up in both urban and rural areas.

[ The number of schools in both urban and rural areas should be
reduced.

I More schools should offer vocational courseto equip student for .
taking their after completing their school education.

(A) Only I follow (B) Only II and III follow

(C) Only I and TIT follow (D) Only I and II follow



66.

67.

68.

69.

70.

Which of the following diagram indicates the best relation between
Reward, Punishment and reinforcement?

© @ &9 Oo

Which three of the four pieces can be fitted together to form a
rectangle?

Q) X ol

(A) ABC (B) ACD (C) BAD (D) CBD
What is the maximum number of square in the following grid?

(A) 10 (B) 11 - (O12 (D) 13
Choose the box that is similar to the box formed from the given sheet of

paper?
2@ g ¥

(A) (B) (©) (D)
(A) I and 2 only (B) 1.2 and 4 only
(C) 1 and 4 only (D) I, 2 and 3 only
Which figure will continue the same series as established in the first
series?

q q
o] O X
T =i4 =|T =

A) B (© (D

€2



71.

In a game of eight players lasting for 70 minutes, six substitute alternate
with each players. This means that all players, including the substitutes.

- are on the field for the same length of time. For how long?

72.

73

74.

7D

76.

77.

(A) 12 (B) 21 (C) 40 (D) 14

If all the letter in the word MERCIFUL are rearranged in alphabetical
order and substituted by the alphabet preceding them in the English
alphabet what will be the new arrangement of letters?

(A) BDHEKLQT (B) BDEHKLQT

(C) BDEHLKQT (D) BDEIMLQT

The average of three consecutive number is N. If the next two numbers
are included how how shall the average vary?

(A) It shall remain the same

(B) It shall increase by 1

(C) It shalll increase by 1.5

(D) It shall increase by 2

What number should replace the question mark?

(A)2 (B)4 ©

What number should repalce the question mark?

1, 50, 6, 45, 11, 40, 16, 35,21, 30, ?

(A) 30 (B) 24 (C) 26 (D) 28
Which letter goes on empty segment?

©O®®
® ®f
() &)

(A)S (B)P - ©Q (D)M
Which one of the following is not an anagram of a country?
(A) A THIN LAD (B) ALAS I MAY

(C) ANOBLE CAR (D) BAG HANDLES



78.

79.

80.

Use the diagram below. How many cubes do you need to make the
steps 9 steps high. .

(A) 36 cubes (B) 40 cubes (C) 44 cubes (D) 45 cubes

Ten years ago P was half of Q in age. If the ratio of their age is 3:4,
what will be the total of their present age?

(A) 45 (B) 40 (C) 35 (D) 30

Four people witnessed a mugging. Each gave the different description
of the mugger. Which description is probably right?

(A) He was average height, thin and middle aged.

(B) He was tall, thin and middle aged.

(C) He was tall thin and young.

(D) He was tall, of average weight and middle aged.

Directions for the following five items: Study the table given bellow and
answer the items follow:

Four students W, X, Y, Z appeared in four papers; I, II, IIl and IV in a test.
Their score out of 100 is given bellow in the table, where 'A’ Stands for

absent.
' Paper
Students I oo
w 59 43 | S| A
X 60 81 |45 |55
j 4 72 76 | A |68
Z 74 A |71 |65
81. Which candidate has secured between 60-65 marks in aggregate?
(A)W (B) X Y (D)Z
82. Who has obtained the lowest average in aggregate?
(A)W (B) X Y D)z
83. Who has obtained the highest average in aggregate?
(A) W (B) X (O (D)Z
84. In which paper the lowest marks ware obtained by the candidates?
(A)I (B) I (C) III (D) IV

. Which candidates has highest percentage in the peper appeared?

(A)W - (B)X (O] ¢ D) Z

99



Part (C) - English Language competence Test (15 x 2) = 30
Marks

Attempt all questions
Read the passage below and answer the question that follows:
Through human history there have been many stringent taboos concerning
watching other people or eating in the presence of others. There have been
attempts explain these taboos in terms of inappropriate social relationships
either between “those who are involved and those who are not
simultaneously involved in the satisfaction of a bodily need, or between
those who are already satiated and those who appear to be shamelessly
gorging. Undoubtedly, such element exits in the taboo, but there is an
additional element with a much more fundamental importance. In
prehistoric times whose food was so precious and the onlookers so hungry.
not to offer half of the little food only had was unthinkable, since every
glance was a plea for life. Further during those times, people existed in
nuclear or extended family groups, and the sharing of the food was literally
supporting ones family or, by extension, preserving ones self. '
86. In support of the argument in the passage about the validity of taboos

against eating in the presence the others who are not eating, would

imply that the society ‘

(A) had always had a plentiful supply of food

(B) emphasized the need to share worldly good

(C) emphasized the value of privacy

(D) discouraged social interaction
87. The writers hypothesis concerning the origin of taboos against watching

other people eat emphasizes. -

(A) general palatability

(B) religious significance of food

(C) limited availability of food

(D) various sources of food
88. According to the passage, the author believes that past attempts® to

explain some taboos concern eating are

(A)unclear  (B) inelegant (B) implausible (D) unimaginatively
89. In developing the main idea of the passage, the writer does one of the

following 3

(A) gives a systematic picture about family life.

(B) recognizes a system designed to. guide personal behavior.

(C) simplifies a complex biological phenomenon by explain it in terms

of social needs. -
(D) redefines that earlier attempts to explain the origins of taboos in
society.

83



90. Which one of the following phrases best state the central ideas of the

_passage
(A) social relationships (B) survival of the self
(C) survival of the fittest (D) survival of the group

Vocabulary ﬂuestioné:

b

92.

g3

94.

95.

Choose the right meaning of the given idiomatic phrase; He burnt his
finger by interesting in neighbors affair. -

(A) got himself into trouble (B) brunt himself

(C) got himself insulted (D) got rebuked

Choose the right word or phrase that is nearest in meaning to the given
key world DOCILE"

(A) vague (B) submissive

(C) stupid (D) stubborn

Choose the closet in meaning to the underlined world in the given
sentence” Last nights event remarkable. :

(A) happening (B) striking ~  (C) escapade (D) rampage )
Pick out the world phrase opposite or nearly opposite to the meaning of
the given world ANTIPATHY"

(A) indifference (B) willingness

(C) fondness (D) liking

Choose the right oneword substitution for underlined: "Life history of a
person written by another.”

- (A) autobiography n (B) bibliography

(C) biography (D) memoir

Syntactical ability Questions:

Choose the correct alternative:
96. He enquired

(A) that where I studied ' (B) where I studied

(C) where I will study (D) that where T will study
. 97. Went to India

(A).in April 25, 2012 (B) on April 25,2012 |
(C) April 25,2012 (D) at April 25, 2012

98. The processor and author of this book..............
(A) has been Dr. Koirala =~ - (B) were Dr. Koirala
(C) is Dr. Koirala - (D) are Dr. Koirala

99. Saw :
(A) the cow is let loose . (B) the cow is being let loose
(C) the cow was let loose (D) the cow was already let loose.

100. He attacked -

(A)on me (B) against me  (C) me " (D) upon me
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Ry U=t ARveT goTedt

‘Paper Il - Governance System

Section (A) - 10 Marks x 3 Questions = 30 Marks

1. waaE fafore UEE gEE THEE T WTEA A4T WY ATl THE

ferames FeaTs@a | (Give the specific characteristics of governance

and show the major differences between governance and government.)

QTR YIMEAF FIAA TARAT FAGT & FEAT AW AT SED

» =TT e | (Explain the necessary reform measures to make

Nepalese administrative structure people friendly.)

3. IqTeHl AAHTA ASANAS, AGF TAT ATHNAEF TEATAT AR Fhbl
qU YT TSH TeE AT ed Hel HeA ﬁﬂm o9 T
Wﬁﬁ % 7 UEIETATE Hrames ForE THEM | (Briefly explain the
chdllences that hindering the arrurance of right to information in
Nepal's current socio-economic and political situation and also mention
the limitations of right to information and transparency.

Section (B) - 10 Marks x 2 Questions = 20 Marks

4, AIEr@T FACH HEaTE, 083 AT IR 3 STHE SSAT A A 7
Frre=roreT W TaeRTdT SqaeT Sael TRUE 3 ¢ fFa=ar e | (Discuss
how effective check and balance of power between 3 main organs of
the state has been managed in the Interim Constitution of Nepal, 20637?)

5 m?ﬁm"a%rﬁcrmmmmrmmmm

- FEEITH Hemidd TR | (Explain the concept of "rule of law" and
evaluate the state of rule of law in Nepal?)
Section (C) - 10 Marks x 3 Questmns 30 Marks

6. TTHTAT ATEAAT WAF F @ ¢ AUCTH AEWAF SAALATIAA A AR
ATEIATE! TANT AT [GUH qHEEEH [qa=al T4 | (What is
“Political Neutrality"? Identify and discuss the present problems
regarding its use in \Zepalese public management. ]

7. GrEANHE FAT GAEAS TIEFEH TS ANAH FFA ARUH AG
qaAe FEEEE T TR WS AT G GNEE ey
FHAT SfEUE TH@ FHRTEEH FHET TeH | (Mention the innovative
initiatives taken for effective public service delivery in Nepal and
review the major problems of public service delivery encountered in
order to make it effective.)

8. Wh?wm"wsgamﬁqmﬂﬁwwm
THEME | (Shading light on the objectives of "Public Service Charter”,
mention its benefits. )

&)
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9.

10.

Section (D) - 10 Marks x 2 Questions = 20 Marks
Y& W{Ed | (Mention the characteristics of human resource
development and justify the need of Human Resources Management.)
TATHEE @ JUTETE F= UE AT JUTETETE ISR T Sy
T ARTEAERY = TR | (Explain government accounting system
and discuss the contribution of this system to financial management in
Nepal.)

901 HGTHI AECHT UZeiaS

Section (A) - 10 Marks X 3 Questions = 30 Marks
TYTTHT FAF=TH70F TATHES Feo@ ¢ T AT WET T, 304Y
FHITAH FIR A GO fa9raaes S&T@ 9 | (Mention the efforts
of decentralization in Nepal and write the characteristics of local self-
governance system based on the Local Self-Governance Act, 1999.) 10
AUE BT AT GO HHE A9 G2 R @ i |
HHETT A TP FASATHT FTHT AHA GO AT T | (It s
said that Nepal's present governance system is similar to a
parliamentary system. Comapare our governance system with the
characteristics of the parliamentary one.) 10
ATHA GUIEATR AT qeEhiar fe s 8 ¢ Adres e yomerers
IRl AAGHST AT FAUF HIHEE TASTE | (Why transparency is
desirable in the goernance system? State the steps taken by Nepal to
make the governance system transparent.) (5+5)

Section (B) - 10 Marks x 2 Questions = 20 Marks
AR e faerEEw avAr g wE AMeEr aetw afqere,
R0%3 F AUWHT fa9UAe® F F g9 ¢ FewE | (Describing the
constitutional development in Nepal, write down the fundamental
features of "Interim Constitution of Nepal, 2063.") (5+5)

AFATAFE MEAF G AFVE TG Wee IorE@ TR | T

AT A=W AT fEETT 9R 9@ | (Mention the

importance of the citivzen awareness in democratic governance system.
Clarify the people's responsibilities in the context of nation building.)
(5+5)
Section (C) - 10 Marks x 3 Questions = 30 Marks
THE | (What is e-governance? Briefly comment on the prospective of

e-governance in Nepal.) (3+7)
FUTETHT AEAE FITHE FEIANT T F FET AG4T T B ¢ Foor@

T AEAAF FT AGTAT 7o A AFATE qfAFET = TER | (What

8y



are the provisions for proper utilization of public funds in Nepal?
Ilustrate role of morality in utilizing public funds.) (5+5)
HuTEr AW FAT FATE TATFI] G AEH G A AATAAL TEH
B | AT TAEFN & FeA] JUUEE dAHT TqEl ¢ R RE |
("The public service delivery is not effective in Nepal” as complained
by general people. What should be done in order to make it effective?
Suggest.) 10

Section (D) - 10 Marks % 2 Questions = 20 Marks
UTerEr WSS FATAT HATET AR ATHEW T T AT AAAHD B
T | A FAG el A% A4 AERT T FAT Fewred A
frarger % weal qieer fHEe O SES ¢ Jed T | (What
are the important roles that you consider to be played by public service
commission and operting agency to attract talented human resource
with higher level of performance?) (545)
TeqirATere - AAAE]  GRAAT AN U G FATEER
fagTaeite" e | (In the context of participatory plannmg evaluate
briefly on the reform efforts taken in Nepal.) 10

(154



QAT Usl:- HAATARKD fdu=T
Paper lll - Contemporary Issues

90WV0 HAH ANECHT UZeleS

Section (A) - 10 Marks x 3 Questions = 30 Marks
T JUACE AFTHT TTAT ¢+ ATHAT A¥ATT FETEIR | (State the causes
of corruption increase in Nepal. What measures shall be taken to
control corruption, give your own suggestions.)
T FRUEE F F 7e%! U183 ¢ a9 TR | (Introduce the concept
of social conflict. What are.the major sources and causes of social
conflict in Nepal? Explain.)
HATEHAT? fqa=I1 TR | (What are the reasons of population growth?
Explain the impacts of population growth in the developing nations.)
Section (B) - 10 Marks x 2 Questions = 20 Marks
4. FE Ol e F gaEm 0 wids e 7 SRR aaEE
ATTHEAFE FEEA TR | (What do you mean by Foreign
Investment? Describe the interrelation between Economic development
and Foreign Investment.)

5. T 7 S fm et ame g qfe THEH | ("Poverty

and unemployment are inter-related”. Prove this statement.)

!\J

Section (C) - 10 Marks x 3 Questions = 30 Marks

6. fawmer =it mverft v Al ddre AeeEE gmuvmEy R
THEM | AUTHT Y ATIOTET Afqer weT TeTga * (Explain the
concept of Public Private Partnership (PPP) for development. How do
you see the future prospects of this concept in Nepal.)

7. FAEE T IEer fon fewadr ammEatT amm v YrEfAE I
mwﬁmmmﬂﬁwmﬁm?wml
(How least-developed countries ‘can harmonize their dependency on
natural resources with environmental aspect of sustainable

- development? Describ.) :

THEH | (Analyse the role of state and decentralization in the
" development process of Nepal.)

(AL



9.

Section (D) - 10 Marks x 2 Questions = 20 Marks
AYTErET T Shedl ATANGE 74T AMIEF AHEHIANAA & & (el B !
AFAT JFF AT AATGCOAET AFT GIAR TEEARN AT AT TH
TATEET YA ATOHT T TEA THEME. | (What are the social and
economic sensitivity of energy crisis in Nepal? Suggest effective
measures to be realized for promoting alternative but environment
friendly sources of energy in the country)

. ey qEA WAE & & ¢ §ear Gandel daes 7 Al AT

FH TF AIATIT 94 SUES Je@ TRIE | (What is climate change?
Mention the effects of climate change and the measures to mitigate
those effects.)
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